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मॉडल प्रश्न पत्र  
Model Question Paper  

 

किा- 12 
Class-12 

क्षवषय - अर्िशास्त्र 
Sub. - Economics  

समय- 3 घंटे  
Time – 3 Hours  

 

पणूाांक- 80 
Full Marks- 80 

सामान्य नर्नर्दशे:- 

 परीक्षार्थी यर्थासंभव अपर्न ेशब्र्दों में उत्तर र्दें। 

Candidates should answer in their own words as much as possible. 

 सभी प्रश्न अनर्नवायय हैं। 

All questions are compulsory. 

 कुल प्रश्नों की संख्या 52 ह।ै 

Total number of questions is 52. 

 प्रश्न 1 स े30 तक बहुनवकनपपय प्रश्न हैं । प्रत्यके प्रश्न के चार नवकपप नर्दए गए हैं। सही नवकपप का 

चयर्न कीनिय।े प्रत्यके प्रश्न के नलए 01 अंक नर्नर्धायररत ह।ै 

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct 

option. Each question carries 01 mark. 

 प्रश्न संख्या 31 स े38 तक अनत लघ ुउत्तरीय प्रश्न ह।ै निसम ेस ेनकन्ही 6 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै 

प्रत्यके प्रश्न का मार्न 2 अंक नर्नर्धायररत ह।ै 

Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6 

questions. Each question carries 02 marks. 

 प्रश्न संख्या 39 स े46 तक लघ ुउत्तरीय प्रश्न ह।ै निसम ेस ेनकन्ही 6 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै 

प्रत्यके प्रश्न का मार्न 3 अंक नर्नर्धायररत ह।ै 

Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6 

questions. Each question carries 03 marks. 

 प्रश्न संख्या 47 स े52 र्दीघय उत्तरीय प्रश्न ह।ै नकन्हीं 4 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै प्रत्यके प्रश्न का 

मार्न 5 अंक नर्नर्धायररत ह।ै 

Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each 

question carries 05 marks. 

 

1. ननम्नलरखित भें से किस वक्र से सॊसाधनों िे उत्तभ ववननधान से दो वस्तुओॊ िी अधधितभ सॊबाववत उत्ऩाद 

सॊमोग िो दर्ाामा जा सिता है? 

Which of the following curve shows the maximum output combinations of two goods by using 

optimum allocation of resources? 

(a) सभोत्ऩाद येिा (Isoquants)          

(b) भाॉग वक्र (Demand Curve) 

(c) िुर उत्ऩाद वक्र(Total Output Curve)  
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(d) उत्ऩादन सॊबावना वक्र(Production Possibility Curve)  

2. ननम्न भें से किस प्रश्न िा सॊफॊध व्मष्टि अथार्ास्र से है? िूिों िा प्रमोग ियते हुए सही वविल्ऩ िा चमन 

िीष्जए।  
Which of the following question/s is/are related to Microeconomics? Choose the correct option by 

using codes.  

i. फाज़ाय भें किसी वस्तु िी िीभत िा ननधाायण िैसे होता है? 

How is price of a goods determined in a market? 

ii. देर् भें सॊसाधनों िा ववननधान िैसे हो? 

How should resources be allocated in a country? 

iii. एि पभा िा िुर ननगात स्तय क्मा है? 

What is the total output level of a firm? 

iv. एि देर् भें वस्तुओॊ िी िीभतें क्मों फढ़ती हैं? 

Why do prices of goods rise in a country? 

(a) i ,ii and iv      (b) i, iii, and iv  

(c) ii  and iv      (d) I and iii   

3. ननम्न भें से किस इिाई भें उऩमोधगता िो भाऩा जा सिता है? 

In which of the following units Utility can be measured? 

(a) किरोभीिय (Kilometres)      (b) रीिय (Litre)  

(c) ग्राभ (Gram)     (d) रुऩमा (Rupee) 

4. मदद किसी वस्तु िी भाॉग िी िीभत रोच िा भान 2 है तो उस वस्त ुिी भाॉग होगी-  
If the elasticity of demand of a goods is 2 then the Demand of the goods will be- 

(a) ऩूणातमा रोचदाय (Perfectly Elastic)  (b) रोचदाय (Elastic) 

(c) र्ून्म रोचदाय (Zero Elastic)   (d) इिाई रोचदाय (Unitary Elastic) 

5. एि उऩबोक्ता िा अधधभान एिददटि होता है। इस भान्मता िे आधाय ऩय एि उऩबोक्ता दो वस्तुओॊ िे ननम्न 

फॊडरों भें से किन फॊडरों ऩय उदासीन होगा? 

The preference of a consumer is Monotonic. On the basis of this assumption a consumer will be 

indifferent on which of following bundles of two goods?  

A (3, 4), B (6, 7), C (1, 2), D (5, 2) 

(a) A and B      (b) A and C 

(c) A and D      (d) B and D 

6. ननम्न भें से ऩूयि वस्तुओॊ िा एि उदाहयण है-  

The example of complementary goods in the following -  

(a) चाम औय िॉपी (Tea and Coffee)  

(b) िरभ औय स्माही (Pen and Ink) 

(c) िरभ औय जूते्त (Pen and Shoes)   

(d) यसगुल्रा औय गुराफ-जाभुन (Rasgulla and Gulab-Jamun) 

7. साभान्मत् एि औसत उत्ऩाद वक्र िा आिाय होता है? 
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Generally, the shape of Average Product curve is - 

(a) एि सयर येिा (A straight Line)  (b) ‘U’ आिाय िा ( ‘U’ shaped) 

(c) अनतऩयवरीम (Hyperbolic)   (d) उल्िे ‘U’ आिाय िा।(Inverted ‘U’ shaped) 

8. ऩैभाने िा ष्स्थय प्रनतपर िे उत्ऩादन परन भें मदद साधनों िो दगुुना वदृ्धध िी जाती है तो उत्ऩादन भें वदृ्धध --

-------------- होगी। 
In the Production function showing constant returns to scale, if the factors are increased twice then 

by how much the output will increase? 

(a) 4 गुणा  (4 times)    (b) 1 गुणा (1 time)   

(c) 2 गुणा (2 times)    (d) 3 गुणा (3 times) 

9.  ननम्नलरखित धचर भें आमत OABC िा ऺेरपर क्मा दर्ााता है। 
What does the area of rectangle OABC show in the following figure?  

 

 

 

 

 

 

 

(a)िुररागत(Total Cost)    (b) औसत रागत (Average Cost)  

(c) औसत ष्स्थय रागत (Average fixed Cost)  (d) िुर ष्स्थय रागत(Total Fixed Cost) 

10. ऩूणाप्रनतमोगी फाज़ाय भें फ़भों िी सॊख्मा होती है-  

The number of firms in perfectly competitive Market is- 

(a) 2        (b) 1 

(c) अल्ऩ (Some)     (d) अत्मधधि (large number) 

11. एि ऩूणाप्रनतमोगी पभा िे सॊतुरन िी र्ता ननम्न भें स ेिौन-सी है? 

Which of the following are the conditions of equilibrium of a perfectly competitively firm?) 

(a) MR=MC तथा MR वक्र, MC वक्र िो ऊऩय स ेिािे 

      MR=MC and MR curve cuts MC curve from the above.  

(b) MR=MC तथा MR वक्र, MC वक्र िो नीच ेसे िािे 

     MR=MC and MR curve cuts MC curve from below.                                                                  

(c) MR=MC तथा MC वक्र, MR वक्र िो ऊऩय स ेिािे 

    MR=MC and MC curve cuts MR curve from the above.    

(d) MR=MC तथा MC वक्र, MR वक्र िो नीच ेसे िािे 

   MR=MC and MC curve cuts MR curve from below. 

12. एि पभा िे द्वाया वस्तु िी िीभत भें 10% िी वदृ्धध ियने ऩय उसिी ऩूनत ा िी भारा 15% फढ़ जाती है तो वस्त ु

िी ऩूनत ा होगी-  
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If the quantity supplied is increased by 15% due to an increment of 10% in the price of goods by a 

firm, then the supply of goods will be-  

(a) ऩूणातमा रोचदाय(Perfectly Elastic)  (b) इिाई रोचदाय (Unitary Elastic) 

(c) र्ून्म रोचदाय (Zero Elastic)   (d) रोचदाय (Elastic) 

13. ननम्नलरखित िथन औय िायण िे सॊफॊध भें िौन सा वविल्ऩ सही है? 

Which of the following options is correct regarding following assertion and reason? 

िथन (A) : किसी वस्तु ऩय इिाई िय रगने से पभा िा ऩूनत ा वक्र फामीॊ ओय सयि जाता है। 
Assertion (A): The supply curve of a firm shifts towards left due to imposition of unit 

      tax on a goods.   

िायण (R) : किसी वस्तु ऩय इिाई िय रगने से पभा िी सीभाॊत रागत फढ़ जाती है।  
Reason (R): Marginal cost of a firm increases due to unit tax on goods.  

(a) A सही है रेकिन R गरत है।  
       A is correct but R is incorrect.      

(b) A गरत है रेकिन R सही है। 
    A is incorrect but R is correct.  

(c) दोनों A औय R सही है तथा R, िी सही व्माख्मा है।  
    Both A and R are correct and R is true explanation of A 

(d) दोनों A औय R सही है तथा R, िी सही व्माख्मा नहीॊ है। 
        Both A and R are correct and R is true explanation of A.  

14. किसी वस्त ुिी भाॉग भें वदृ्धध होने से सॊतुरन िीभत ऩय क्मा प्रबाव ऩड़ता है? 

What is the effect of increase in demand for a goods on equilibrium price? 

(a) सॊतुरन िीभत भें वदृ्धध होती है। (Equilibrium Price increases.)    

(b) सॊतुरन िीभत भें िभी होती है। (Equilibrium Price decreases.) 

(c) सॊतुरन िीभत अऩरयवनतात यहती है। (Equilibrium Price remains unchanged.)   

(d) सॊतुरन िीभत र्ून्म हो जाती है। ((Equilibrium Price becomes Zero).) 

15. फाज़ाय भें भाॉग आधधक्म िी ष्स्थनत िफ उत्ऩन्न होती है? जफ-  

When will the situation of excess demand rise? When- 

(a) D = S       (b) S>D 

(c) D>S        (d) D-S = 0 

16. ऩूॉजीवादी अथाव्मवस्था िे सॊफॊध भें ननम्नलरखित भें स ेिौन सा िथन सत्म है? 

Which of the following statement about capitalist economy? 

(a) उत्ऩादन िे साधनों ऩय ननजी स्वालभत्व (Private ownership on factors of production) 

(b) उत्ऩादन िा उद्देश्म जन िल्माण (The objectives of production is human welfare) 

(c) सयिाय िा ऩूणा हस्तऺेऩ (Total interference of government)   

(d) श्रलभिों िी सेवा िा क्रम-ववक्रम सॊबव नहीॊ (There is no possibility of trade of services of labourers) 

17. भान लरमा जाए एि देर् भें 2 राि व्मष्क्त योजगाय भें सॊरग्न हैं तथा 10 हजाय व्मष्क्त िामा ियन ेिो इच्छुि 

हैं रेकिन उन्हें  िाभ नहीॊ लभर ऩा यहा है तो देर् भें फेयोजगायी िी दय क्मा होगी? 
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Let’s assume that in a country, there are 2 lakh people are employed and 10 thousand people are 

willing to work but they don’t get any, then what will be the unemployment rate in the country? 

(a) 2%       (b) 10% 

(c) 5%       (d) 20% 

18. अथार्ास्र िी बाषा भें ननवेर् र्ब्द से क्मा अलबप्राम है? 

What does the term Investment mean in the context of Economics? 

(a) र्मेय िा क्रम (Purchasing of shares)  

(b) जभीन िा क्रम (Purchasing of land) 

(c) फीभा मोजना भें भुद्रा िचा ियना (Spending the money in Insurance plan)   

(d) ऩूॉजीगत वस्तुओॊ िे स्िॉि भें वदृ्धध (An increment in stocks of capital goods)  

19. आम िे चक्रीम प्रवाह िे दो ऺेरि भॉडर भें िायि सेवाओॊ िा प्रवाह किस ददर्ा होता है? 

In which direction the flow of factors’ services take place in two-sectors model of circular flow of 

income? 

(a) पभा स ेपभा िी ओय (From firm to firm)       

(b) ऩरयवाय से पभा िी ओय( From household to firm) 

(c) ऩरयवाय से ऩरयवाय िी ओय(From household to household)     

(d) पभा से ऩरयवाय िी ओय  (From firm to household) 

20. सयिाय द्वाया बुगतान िी गई वदृ्धा ऩेंर्न िी यालर् ननम्नलरखित भें से किस सभुच्चम िा एि बाग होती है? 

The old aged pension paid by the government is the part of which of the following aggregates? 

(a) GDP       (b) GNP 

(c) याटरीम आम (National Income)    (d) वैमष्क्ति आम (Personal Income)  

21.  ननम्नलरखित भें से ववननभम िा एि सवाभान्म भाध्मभ िौन सा है? 

Which of the following is the universally accepted medium of exchange?   

(a) चिेफुि (Cheque Book)     (b) फॊधऩर (Bond-Paper) 

(c) डडभाॊड ड्राफ्ि (Demand Draft)    (d) भुद्रा (Money) 

22. ब्माज दय भें वदृ्धध िा भुद्रा िी निदी भाॉग भें क्मा प्रबाव होता है? 

What is the effect of increment in rate of interest on cash demand for money? 

(a) भुद्रा िी निदी भाॉग भें वदृ्धध होती है (Cash demand for money increases)   

(b) भुद्रा िी निदी भाॉग भें िभी होती है।(Cash demand for money decreases) 

(c) भुद्रा िी निदी भाॉग अऩरयवनतात यहती है(Cash demand for money remains unchanged) 

(d) भुद्रा िी निदी भाॉग र्ून्म हो जाती है (Cash demand for money becomes zero) 

23. अथाव्मवस्था भें भुद्रा िी ऩूनत ा िो फढ़ाने िे लरए एि िेन्द्रीम फैंि िे द्वाया अऩनाए गए ननम्न उऩाम हैं। ननम्न 

िूिों िा प्रमोग ियते हुए सही वविल्ऩ िा चमन िीष्जए। 
following are the methods adopted by the central bank to increase the supply of money in an 

economy. Choose the correct options by using following codes.     

a. फैंि दय भें िभी (Decrease in bank rate) 
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b. प्रनतबूनतमों िी बफक्री (Selling of securities) 

c. िोष अनुऩात भें िभी ( Decrease in reserve ratios) 

(a) a and b       (b) b and c  

(c) a and c        (d) a, b and c  

24. ननम्नलरखित भें से किस िय िो िागजी िय िहा जाता है? 

Which of the following is known as paper tax? 

(a) आमिय (Income Tax)      (b) ननगभ िय (Corporation Tax)   

(c) सॊऩवत्त िय (Wealth Tax)     (d) सीभा र्ुल्ि (Custom Duty) 

25. ननम्नलरखित भें से प्रत्मऺ िय िा एि उदाहयण िौन सा है? 

Which of the following is an example of direct tax? 

(a) उत्ऩादन िय (Excise Duty)     (b) उत्ऩाद िय (Output Tax) 

(c) ननगभ िय (Corporation Tax)    (d) सेवा िय (Service Tax) 

26. मदद आम भें ऩरयवतान से उऩबोक्ता िा उऩबोग व्मम अऩरयवनतात यहता है तो इस ष्स्थनत भें MPC िा भान क्मा 
होगा? 

If the consumption expenditure of consumers remains unchanged due to change in income, then 

what will be the value of MPC? 

(a) 1 से अधधि (Greater than 1)    (b) 1  

(c) 0         (d) 0 से िभ (Less than 0)  

27. ननम्न भें से सभग्र भाॉग िा एि घिि नहीॊ है- 

Which of the following is not a component of aggregate demand? 

(a) उऩबोग व्मम (consumption expenditure)   

(b) ननवेर् व्मम (Investment Expenditure) 

(c) ननवर ननमाात (Net Export)        

(d) ववत्तीम ऩरयसॊऩवत्तमों ऩय व्मम (Expenditure on financial assets) 

28. िुर ननगात भें ऩरयवतान तथा स्वामत ननवेर् भें ऩरयवतान िा अनुऩात क्मा िहराता है? 

What the ratio of change in autonomous investment and change in total output is called?  

(a) सीभाॊत िी उऩबोग प्रववृत्त (Marginal propensity to consume)     

(b) फचत िी औसत प्रववृत्त (Average propensity to save) 

(c) गुणि (Multiplier)        

(d) सीभाॊत िी औसत प्रववृत्त (Average propensity to consume) 

29. ववदेर्ी ववननभम दय क्मा है? 

What is foreign exchange rate? 

(a) वस्त ुिी वस्त ुभें िीभत (Price of goods in term of goods)     

(b) वस्त ुिी भुद्रा भें िीभत (Price of goods in terms of money) 
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(c) भुद्रा िी वस्तु भें िीभत (Price of money in terms of goods)    

(d) देर्ी भुद्रा िी ववदेर्ी भुद्रा भें िीभत (Price of domestic currency in terms of foreign currency) 

30. वस्तुओॊ एवॊ सेवाओॊ िे अॊतयााटरीम रेन-देन िे सॊतुरन िो क्मा िहा जाता है? 

What is the balance of international transactions of goods and services called?  

(a) फाज़ाय सॊतुरन (Market equilibrium) (b) उऩबोक्ता सॊतुरन(Consumer’s equilibrium  

(c) व्माऩाय सॊतुरन (Balance of trade)  (d) बुगतान सॊतुरन(Balance of payments) 

 

अनत-रघूत्तयीम प्रश्न (2 अॊिीम) 

Very short type Question (2 marks) 

 ननम्नलरखित भें से किन्हीॊ छ् प्रश्नों िे उत्तय दीष्जए। 

Answer any six from the following questions.   

31. अवसय रागत, उत्ऩादन सॊबावना वक्र िो िैसे प्रबाववत ियती है? 

How does opportunity cost affect production possibility curve? 

32. ‘उऩबोक्ता िा अधधभान एिददटि होता है।’ इस िथन से क्मा तात्ऩमा है? 

‘Consumer’s preference is monotonic.’ What does this statement mean? 

33. मदद किसी वस्त ुिी िीभत भें 5% िी िभी ियने से उसिी भाॉग भारा भें 8% िी वदृ्धध हो जाती है तो वस्तु िी 
भाॉग िी िीभत रोच ऻात िीष्जए। 
If quantity demanded of a goods increases by 8% due to fall in price by 5%, then calculate the price 

elasticity of demand.  

34. सीभाॊत रागत औय औसत रागत िो ऩरयबावषत िीष्जए।  
Define the terms marginal cost and Average cost. 

35. सभष्टि अथार्ास्र िी दृष्टि से अथाव्मवस्था िे चाय ऺेरिों िे नाभ लरखिए। 

According to Macroeconomics what are the four sectors of an economy? 

36. वताभान सभम भें डडष्जिर ववननभम िे किन्हीॊ चाय साधनों िो लरखिए। 
Write any four means of digital transactions at present time.   

37. िरुी अथाव्मवस्था से आऩ क्मा सभझते हैं? 

What do you mean by an open economy? 

38.  सयिायी फजि िो ऩरयबावषत िीष्जए  

Define Government Budget.  

रघूत्तयीम प्रश्न (3 अॊिीम) 

Short answer type questions (3 marks) 

ननम्नलरखित भें से किन्हीॊ छ् प्रश्नों िे उत्तय लरखिए। 

Answer any six from the following questions.   
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39. सीभाॊत उऩमोधगता किसे िहत ेहैं? येिाधचर से स्ऩटि िीष्जए कि जफ सीभाॊत उऩमोधगता र्ून्म होती है तफ िुर 

उऩमोधगता अधधितभ होती है। 
What is marginal utility? Illustrate with diagram that Total utility is maximum when marginal utility 

is zero.    

40. मदद एि पभा िा उत्ऩादन परन             है। तो श्रभ(L) िी 36 तथा ऩूॉजी (K) िी 49 इिाई िे ननमोजन 

स ेवस्त ुिी कितनी इिाई िा अधधितभ उत्ऩादन सॊबव है? 

If the production function of a firm is            . then what will be the possible maximum 

output by employment of 36 units of labour(L) and 49 units of capital (K)? 

41. फाजाय सॊतुरन से आऩ क्मा सभझत ेहैं? येिाधचर स ेस्ऩटि िीष्जए।  

What do mean by market equilibrium? Illustrate with diagram. 

42. किसी वस्त ुिी ऩूनत ा िो प्रबाववत ियने वारे किन्हीॊ तीन िायिों िी व्माख्मा िीष्जए।  
Explain any three factors affecting the supply of a goods.  

43. सिर घयेर ूउत्ऩाद िो ऩरयबावषत िीष्जए। मह सिर याटरीम उत्ऩाद से किस प्रिाय सॊफॊधधत है? 

Define Gross Domestic Product. How it is related to Gross National Product? 

44. ‘आवश्मिता िे दोहये सॊमोग’ िी सभस्मा िो भुद्रा किस प्रिाय दयू ियती है? उदाहयण से स्ऩटि िीष्जए।  
How does money solve the problem of ‘Double coincidence of wants? Illustrate with an example?  

45. सयिायी फजि िे उद्देश्मों िा उल्रेि िीष्जए। 
Describe the objectives of Government budget.   

46. मदद अथाव्मवस्था भें स्वामत व्मम(स्वामत उऩबोग एवॊ स्वामत ननवेर्) (A) 40 ियोड़ रुऩमे, उऩबोग िी सीभाॊत 

प्रववृत्त 0.6 तथा आम (Y) िा स्तय 1000 ियोड़ रुऩमे हैं तो सभग्र भाॉग िी गणना िीष्जए। क्मा अथाव्मवस्था 
सॊतुरन भें है? स्ऩटि िीष्जए।  
If the autonomous expenditure (autonomous and autonomous investment) (A), marginal 

propensity to consume (MPC) and the Level of income(Y) are ₹40 crore, 0.6 and ₹1000 crore 

respectively. Calculate the value of aggregate demand. Is economy in equilibrium? Explain.  

दीघाउत्तयीम प्रश्न (5 अॊिीम) 

Long answer type questions. (5 Marks) 

ननम्नलरखित भें से किन्हीॊ चाय प्रश्नों िे उत्तय दीष्जए।  

Answer any four from the following questions.  

47. भाॉग िी िीभत रोच िो ऩरयबावषत िीष्जए। भाॉग िी िीभत रोच िो (a) प्रनतस्थाऩि वस्तु िी उऩरब्धता 
तथा (b) वस्तु िे वैिष्ल्ऩि प्रमोग, किस प्रिाय प्रबाववत ियते हैं? स्ऩटि िीष्जए। 
Define Price elasticity of demand? How (a) availability of substitutes of a goods and (b) alternative 

use of goods, affect the price elasticity of demand? Explain.    

48. ऩैभाने िा प्रनतपर से आऩ क्मा सभझते हैं? एि उदाहयण से स्ऩटि िीष्जए कि एि उत्ऩादन परन ऩैभाने िा 
ष्स्थय प्रनतपर तथा ऩैभाने िा वधाभान प्रनतपर िो िफ सॊतुटि ियता है? 

What do you mean by returns to scale? When does a production function show constant returns to 

scale and increasing returns to scale? Illustrate with examples.  
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49. भान रीष्जए एि फाज़ाय भें दो फ़भें हैं। पभा 1 िा ऩूनत ा वक्र   = -3 + P (P     =0 (P  )   

तथा पभा2 िा ऩूनत ा वक्र    = -10 + 2P (P    =0 (P  ) तो फाजाय ऩूनत ा वक्र ऻात िीष्जए।  

Let us assume there are two firms in a market. The supply curve of firm-1 is   = -3 + P (P     

    =0 (P  )  and The supply curve of Firm-2 is    = -10 + 2P (P    =0 (P  ), then find the 

                 market supply curve? 

50. क्मा GDP िल्माण िा सूचि है? स्ऩटि िीष्जए। 

Is GDP an indicator of welfare? Explain.   

51. सभग्र भाॉग से आऩ क्मा सभझते हैं? सभग्र भाॉग िे ववलबन्न घििों िी व्माख्मा िीष्जए। 
What do you mean by aggregate demand? Explain its various components. 

52. िेन्द्रीम फैंि अथाव्मवस्था भें साि ऩय ननमॊरण किस प्रिाय ियता है? व्माख्मा िीष्जए।  
How does central bank control over credit in an economy? Explain.  
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Answer of MCQ 

 

प्रश्न  उत्तय  प्रश्न  उत्तय  

1  d 16 a 

2 d  17 c 

3  d 18 d 

4  b 19 b 

5  c 20 d 

6  b 21 d 

7  d 22 b 

8  c 23 c 

9  d 24 c 

10 d 25 c 

11  d 26 c 

12  d 27 d 

13  c 28 c 

14  a   29 d 

15  c  30 c 

 

 
 
 


